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O sgzel g2 13,072
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< 34,000
201 L2l 19,000 19,000 0
< 19,000
01 At 22l 19,000 19,000 0
O OlMel 715 LBt~ H| 19,000
< 19,000
02 OIF=LTHAHE & 2 15,000 15,000 0
< 15,000
02 BIZIOITHOH =R ESE NS 15,000 15,000 0
O QzZtelTHol ¥ S =sE243 15,000
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NE=XNNA 3,800 3,800 0
201 LB-2d| 1,300 1,300 0
01 At 2t 2l 1,300 1,300 0
O LDg=sKNE g2F8 1,300
202 oddl 2,500 2,500 0
01 = LH 4 1l 2,500 2,500 0
O LDE=XNXE d2F 2,500
Sgs %EE sSEAMHA N& 226,800 226,800 0
= 158,760
Al 68,040
201 Let24d] 113,400 118,800 25,400
= 79,380
Al 34,020
01 At 22l 113,400 118,800 25,400
O SHsS AMdlZ2eltaxt 29X& 113,400
= 79,380
Al 34,020
301 LPEAS 113,400 108,000 5,400
= 79,380
Al 34,020
01 Al EE E 563 113,400 108,000 5,400
O 88s Atdl2teltia Xt X& 113,400
= 79,380
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D219 g Helkt MeX 2| 723,500 390,000 333,500
= 361,750
< 217,050
Al 144,700
301 LENF 723,500 390,000 333,500
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< 264,000
Al 66,000
11 ALSI S RAHEE = 330,000 330,000 0
O Hyoladjgdyd 29X 330,000
< 264,000
Al 66,000
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Off &t 24
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i
2m

dHHENY FHHXNE

H

Al

66,040

22,328
43,712

61,480

307 21201 &

H

Al

66,040

22,328
43,712
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19,560

O gxgoAl datns 2 JIgH UWER2

O MgdH SAAH MRIHA

H

Al

Al

in

Al

=

15,000

15,000
7,500
7,500

51,040

10,000
5,000
5,000

24,840
4,968

19,872

16,200
4,860

11,340

46,480

15,000

4,560

M e NE2d

= M W

654,123
466,442
93,841
93,840

507,804

146,319

307 21201 A

= MW

654,123
466,442
93,841
93,840

507,804

146,319

1A SXAIE E =

O d5HE0Y MEOLAUEN

>

O FG

2

e gussat

O MgdH 22X

= W

W

= N H

654,123
229,600

183,680
22,960
22,960

141,000
141,000
283,523
141,762

70,881
70,880

507,804

146,319

0x
JH
Jy
E
%
p=|
T
foi
He
>
{0

H

Al

—

, 126,419

608,172
232,241
286,006

1,017,388

109,031

o
o3
I
1@
0z
o0
b
0
02
>
0
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= H

328,342
150,012
83,501
94,829
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SH: OEISD
a8 =2X BT

G I8 =ZH Ol Es ¢ X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2iz2to| & 328,342 0 328,342
J| 150,012
&< 83,501
Al 94,829
11T AISIEXAIEEX 328,342 0 328,342
O JIEEd MEA 29| 328,342
J| 150,012
& 83,501
Al 94,829
e =ZS Tkt BESAE 29XH 286,321 274,987 11,334
p] 194,700
=} 42,975
Al 48,646
307 QI2t0| ™ 286,321 0 286,321
J| 194,700
& 42,975
Al 48,646
11 A EXAIEEX 286,321 0 286,321
O JIEEZE0HAN ESAE 29| 270,206
J| 179,219
= 42,658
Al 48,329
O =Tl BESAAE H2=2 X MA G 9,000
J| 9,000
O JIIEZHIHA Mg sad| 2,115
J| 1,481
& 317
Al 317
O = A ElAaA NHEXNES 5,000
J| 5,000
IIEZES Ik ESAE 2R 0Is2Y) 10,000 0 10,000
J| 5,000
= 2,500
Al 2,500
402 SI2F X0l & 10,000 0 10,000
J| 5,000
= 2,500
Al 2,500
02 QX2 A E X (0| A THE) 10,000 0 10,000
O =0 ESAE JsE2 10,000
J| 5,000
= 2,500
Al 2,500
MHE MK ABsE T2 26,351 27,260 £909
U oz XN
J| 18,445
& 3,953

Al 3,953




2N

X{ XH -
S =

S =" Okt 25 & K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 26,351 20,987 5,364
9] 18,445
< 3,953
Al 3,953
11T M SXASEEX 26,351 20,987 5,364
O JGtEZZUaikt 2=l 5,364
J| 3,754
< 805
Al 805
O JHE=ZHLol A Nzs= 20,987
J| 14,691
< 3,148
Al 3,148
JHEEH Jtoll At WEXNSEZ2IY 29 5,631 6,758 A1,127
J| 3,942
= 844
Al 845
307 gl2tol & 5,631 6,758 A1,127
J| 3,942
= 844
Al 845
11T M SRASE EX 5,631 6,758 A1,127
O HE=ZHItaA nEXNZ 5,631
J| 3,942
= 844
Al 845
428 dgs 29X 160,982 149,973 11,009
J| 67,049
< 41,589
Al 52,344
307 21201 A 160,982 0 160,982
J| 67,049
< 41,589
Al 52,344
11T MISRAMSER 160,982 0 160,982
O d=Z34Ea 29| 160,982
J| 67,049
< 41,589
Al 52,344
A=ZG0Icik ESAE 2SN 203,705 188,462 15,243
J| 142,139
< 29,914
Al 31,652
307 21201 A 203,705 0 203,705
J| 142,139
< 29,914
Al 31,652
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= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
11T M SRASE EX 203,705 0 203,705
O &= ESAIE 24| 195,078
J| 133,512
< 29,914
Al 31,652
O dZdIOloikt EsA4 Hl== X dAH 8,627
J| 8,627
AZY Do 2 ZHl.2tEHl K& 17,570 17,570 0
J| 12,300
< 2,635
Al 2,635
307 gl2tol & 17,570 0 17,570
J| 12,300
< 2,635
Al 2,635
11T M SRASE EX 17,570 0 17,570
O &= Ioilkt g & 2ty K& 17,570
J| 12,300
< 2,635
Al 2,635
AdEZYIcA Izg.38 2208 29 20,837 20,837 0
J| 14,585
= 3,126
Al 3,126
307 glz2+ol & 20,837 20,837 0
Il 14,585
< 3,126
Al 3,126
11T MISAASEX 20,837 20,837 0
O dZ4Ilci k&t Xgs= 20,837
J| 14,585
< 3,126
Al 3,126
HE=" 2EAd 22X 38,880 38, 160 720
< 11,664
Al 27,216
307 21201 A 38,880 0 38,880
< 11,664
Al 27,216
11T ALS S XA E = 38,880 0 38,880
O HE=XAE SAR =& 38,880
< 11,664
Al 27,216
CIMZATMN AgA ISHLH (HES) 9,000 0 9,000
< 9,000
401 A& HIZ 201 I 9,000 0 9,000
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M 04 =X =X
G I8 =ZH Ol Es ¢ X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 9,000
01 Al&H| 9,000 0 9,000
O Hd=ZHIoHA & JDseEd 9,000
= 9,000
Z2 YA 15,700 4,320 11,380
301 et M= 1,200 1,200 0
12 JIEtE A= 1,200 1,200 0
O 4= SEWHYUE 2AIE 1,200
307 2Iz2t0| & 14,500 3,120 11,380
11T AISIEXAIE EX 14,500 3,120 11,380
O g2tX '28Z Il tE ' ¢ 4,300
O ZAtEG e AHA 2FHA 5,200
O 2022 JIE&ES 4= J=20d 5,000
OlsHdotEXIgdiied 1,800 2,000 A 200
& 540
Al 1,260
307 21240 & 1,800 2,000 200
& 540
Al 1,260
11T AISIEXAIEEX 1,800 2,000 A 200
O OlsdotdXgdiiad 1,800
o= 540
Al 1,260
OlsHEEsdHl 2d9A2 3 1,300 1,300 0
201 et Y| 1,300 1,300 0
01 AP 2t 2] H| 1,300 1,300 0
O0ls - Bzl 29fds ¢ 1,300
AN&E AL 22| 736,714 720,315 16,399
= 39,875
o 33,350
Al 663,489
A2 2 Al 2tel 736,714 720,315 16,399
= 39,875
o=} 33,350
Al 663,489
A2 A 22l 72,200 72,200 0]
201 et 22,100 22,100 0
01 AR 22l ] 15,600 15,600 0
O NEA 224 15,600
02 2224 H| 6,500 6,500 0
OO0sSEXE 34 ¢ HAH 6,500
202 044l 4,300 4,300 0
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L= B
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GRS
&S A 2e]
&S At2te

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH 4 bl 4,300 4,300 0
O XNEASA g2F2 4,300
206 M= Hl 30,000 30,000 0
01 M2 4l 30,000 30,000 0
O MNAS SHAON g&X& 30,000
301 2N = 15,800 15,800 0
12 JIEBHE4 = 15,800 15,800 0
O Os=2EXE SAA 23H X 10,800
O Mollgd S NBSAAL 25 X 5,000
A SAHEEH XA 584,764 573,849 10,915
= 17,400
Al 567,364
307 21201 A 584,764 573,849 10,915
< 17,400
Al 567,364
11T MISXASEEX 584,764 573,849 10,915
O NEASAEEH 2gH 2 AP HI 584,764
< 17,400
Al 567,364
d= S NSAMEE It Muls X 17,810 15,300 2,510
= 8,905
< 3,562
Al 5,343
307 gl2tol & 17,810 15,300 2,510
= 8,905
< 3,562
Al 5,343
11T M SRAISE EX 17,810 15,300 2,510
O &= S8 IHASAM EEIHY MHA X 17,810
= 8,905
< 3,562
Al 5,343
AESAH 2COUOIH N - =4 61,940 58,966 2,974
= 30,970
< 12,388
Al 18,582
307 21201 A 61,940 58,966 2,974
= 30,970
< 12,388
Al 18,582
11T MISAASEX 61,940 58,966 2,974
O UESAF ZOUOH XN& 4 61,940
= 30,970
= 12,388
Al 18,582




= A

DA ED

M OtE - U223 =X 32
Sl 2AUINE U RS H XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE - U2 22X 548 10,359,915 7,690,389 2,669,526
= 4,471,810
s 750,000
J| 584,532
< 1,107,823
Al 3,445,750
A2 & U233 N& 10,359,915 7,690,389 2,669,526
= 4,471,810
s 750,000
J| 584,532
< 1,107,823
Al 3,445,750
AZ0HE & OERs N2 14,180 14,280 A 100
201 £B-2d | 4,800 4,800 0
01 At 22l 4,800 4,800 0
O JINEL2EM g8 =4 4,800
202 oddl 4,480 4,480 0
01 = LH o4 1l 4,480 4,480 0
O JIsl=2x3 g4 =4 4,480
307 21201 A 4,900 5,000 A 100
11T MISXASEX 4,900 5,000 A 100
O L23sIt=E HMESAY £ SMES 3,200
O sHeHXt 1 ALY 1,700
Ct2stots XEAY 299,220 331,476 A 32,256
< 102,749
Al 196,471
307 glz2+ol & 299,220 331,476 A 32,256
< 102,749
Al 196,471
11T MISAASEX 299,220 331,476 A 32,256
O U2 HBXNJEEH SAA ¢dd & =€ 87,140
< 29,282
Al 57,858
O ZE0I12X NHEXE SEAY 37,780
< 15,112
Al 22,668
O =24 =Y 29 131,300
< 45,955
Al 85,345
O UEsitsE nguUso0l XA 28,000
< 8,400
Al 19,600
O U2st a4 MZ2XE 10,000
< 4,000
Al 6,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O U=23aIt=s stotsd At X 5,000
ZE0I2 X A2 XA 15,500 20,000 A 4,500
| 7,750
< 2,325
Al 5,425
307 glz2tol & 15,500 20,000 24,500
| 7,750
< 2,325
Al 5,425
11T MISRAASEX 15,500 20,000 A 4,500
O 208X AL XA 15,500
J| 7,750
< 2,325
Al 5,425
CH23tot= Atdll2tel X3 71,700 63,650 8,050
J| 35,850
< 10,755
Al 25,095
307 gl2tol & 71,700 63,650 8,050
J| 35,850
< 10,755
Al 25,095
11T ALS S XAEE = 71,700 63,650 8,050
O Ct23ItE Atell2el XI& 71,700
J| 35,850
< 10,755
Al 25,095
AEgs @ JUHME 5 $RUSAHHA T3 246,256 227,968 18,288
J| 117,728
= 35,319
Al 93,209
307 glz2+ol & 246,256 227,968 18,288
J| 117,728
< 35,319
Al 93,209
11T MISRASER 246,256 227,968 18,288
O s & UM s Y2USAMEIA X
2 246,256
J| 117,728
< 35,319
Al 93,209
ZE20/XAESHA MHIA XA 63,576 60,100 3,476
J| 31,788
< 9,536
Al 22,252
307 glz2tol & 63,576 60,100 3,476
J| 31,788
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= - — SHE|
CHB G (B) - HRAMY - BES e 2
< 9,536
Al 22,252
11T MIZ2XAEE 63,576 60,100 3,476
Z2E 0PSB AE MUlA X 63,576
J| 31,788
< 9,536
Al 22,252
23ty It dogera 113,814 104,040 9,774
| 56,907
= 17,072
Al 39,835
307 21201 A 113,814 104,040 9,774
| 56,907
< 17,072
Al 39,835
11T AR SXAIEE = 113,814 104,040 9,774
O UEIE M AHLEXA 113,814
| 56,907
< 17,072
Al 39,835
018 JI=s8d =4 33,943 30,070 3,873
| 16,971
< 5,092
Al 11,880
307 glz2tol & 33,943 30,070 3,873
| 16,971
< 5,092
Al 11,880
11 AISI S XA E = 33,943 30,070 3,873
O 0=sd JH=s838 24 33,943
| 16,971
< 5,092
Al 11,880
208 & OER3orsE N S8 2 497,960 494,240 3,720
| 248,980
< 99,592
Al 149,388
307 21201 A 497,960 494,240 3,720
| 248,980
< 99,592
Al 149,388
11T MISXAISEEX 497,960 494,240 3,720
O 22NE 2 U2BIIE K@ SHHEHSH(
SAML 212Hl, HEZ2EE 497,960
| 248,980
< 99,592
Al 149,388
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 27,423
Al 41,135
401 A& HIZ 201 80,000 0 80,000
< 15,000
Al 65,000
01 A& HI 80,000 0 80,000
O 2==s0LsH 383 2228 X2 80,000
= 15,000
Al 65,000
SSFE0tUEH AR SR+ 5,600 1,440 4,160
< 1,680
Al 3,920
307 glz2tol & 5,600 1,440 4,160
< 1,680
Al 3,920
11T MISRASEX 5,600 1,440 4,160
O ZES0ILisEH AR 2N+ 5,600
< 1,680
Al 3,920
ety olgd ALY 2,618,000 0 2,618,000
= 1,931,000
= 206,000
Al 481,000
301 LeHEBAF 2,618,000 0 2,618,000
= 1,931,000
= 206,000
Al 481,000
01 MI2ZHE +06l= 2,618,000 0 2,618,000
O Hotg ol8d A 2,618,000
= 1,931,000
< 206,000
Al 481,000
So e FAUAMY 1,608,250 1,618,250 A 10,000
< 6,850
Al 1,601,400
301 LEBEAZ 1,608,250 1,608,250 0
< 6,850
Al 1,601,400
01 MEIBZE 06z 1,608,250 1,608,250 0
O AmoL ol |OIEZF NE 34,250
< 6,850
Al 27,400
O sdXd= Na 1,219,000
O &4 =dt=a Na 355,000
JISHH A 550,000 700,000 A 150,000
s 450,000
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M OtE - U223 =X 32
el AUNE U ORI X (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 100,000
401 A& HIZ 201 I 550,000 700,000 A 150,000
s 450,000
< 100,000
01 A& HI 550,000 700,000 A 150,000
O LAl JbEHH A8 550,000
s 450,000
< 100,000
TZAAl FEHH(MERSIHEH) A 300,000 0 300,000
s 300,000
401 AIEHI L 2 CHYI 300,000 0 300,000
as 300,000
01 A& HI 300,000 0 300,000
O Z&A JIEHE(ME25HE) A 300,000
s 300,000
OtOIS 20l Ex1SHl XA 31,105 0 31,105
< 9,331
Al 21,774
307 21201 A 31,105 0 31,105
< 9,331
Al 21,774
11T ALS S XAEE = 31,105 0 31,105
O 20224 OOI=E20l E+uW=Hl X& 31,105
< 9,331
Al 21,774
HHE2LZH(HEIIED) 21,000 21,000 0
Jl2ZH(6ai=sm) 21,000 21,000 0
J2dH (A=) 21,000 21,000 0
201 £B-2dH| 18,300 18,300 0
01 At 22l 18,000 18,000 0
O 2dg AtR2eltl 18,000
02 2324l 300 300 0
O =322 % HMA 300
203 ¥ S =&l 2,700 2,700 0
04 FNSEHR=LH 2,700 2,700 0
O BA2IERFAHI 2,700
Hees(6gsn) 20,000 0 20,000
WEHAXS (6 EII=1L) 20,000 0 20,000
JISdES 20,000 0 20,000
702 )1 SEEZS 20,000 0 20,000
(O RIE=RSE-3= 20,000 0 20,000
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N = 0 &F AF Y 93 A A
20229 & 20l & LB H SANE MY ~ A=K
oM BAEMY
M oleg 22|
SRl BANHRLS 2D 4 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %Eﬁ HRE2
St A 28,234,179 28,737,434 A 503,255
= 14,003,619
Jl 7,200
= 4,476,483
Al 9,746,877
Holeyg 22| 26,850,007 26,739,660 110,347
= 13,839,203
Jl 7,200
& 4,065,211
Al 8,938,393
SANNEEL=2 20 A 42,800 47,200 N4 ,400
SN2 2 A4 42,800 47,200 A4 400
201 Bt A H| 35,800 41,200 A5,400
01 At 2t2l ] 16,200 16,200 0
O &FdiEs"d=2 XM M 12,000
O ARS, JIMAHZE = S 018 == 1,600
O A gdxtg L AIREE 7Y 2,600
02 =224 H| 19,600 25,000 N5,400
O g ed=2 DN 25 19,600
202 044 6,000 6,000 0
01 2L Y| 6,000 6,000 0
O BAHHUSLS ML Y450 sxee
S g2 =X 6.000
203 € R F & 1,000 0 1,000
03 A ZHF=XH R = XIH| 1,000 0 1,000
O BEFHAMALEZ 1,000
MESID AIES UIIEE =4 26,807,207 26,692,460 114,747
= 13,839,203
J| 7,200
o= 4,065,211
Al 8,895,593
OISR 20 K& 12,500,000 11,130,000 1,370,000
= 6,650,000
& 1,755,000
Al 4,095,000
402 QI2v X2 0| & 12,500,000 11,130,000 1,370,000
= 6,650,000
& 1,755,000
Al 4,095,000
02 QX2 A E X (0| XM THS) 12,500,000 11,130,000 1,370,000
O &EIIXNEX R0 X 5,600,000
= 2,450,000
= 945,000
Al 2,205,000
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M o1y 2
Sl WS AIIES LIIEY £4 (B9 ®R)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
O &Jlat=2xt S0 X 6,900,000
= 4,200,000
S 810,000
Al 1,890,000
IS 200 NE(S3) 100,000 209,000 109,000
= 70,000
= 30,000
405 THatF S| 100,000 209,000 109,000
= 70,000
= 30,000
01 ML ESFHSH 100,000 209,000 109,000
O ®IIXNSA 7o N (S3) 28,000
= 28,000
O &Jistex 7o NE(23) 72,000
= 42,000
= 30,000
HII01ER 7Y XE 270,000 252,000 18,000
= 135,000
Al 135,000
402 QI2tXt=01 & 270,000 252,000 18,000
= 135,000
Al 135,000
02 QA 2AMLEE (01X THE) 270,000 252,000 18,000
O &JI0IEX 7 XN 270,000
= 135,000
Al 135,000
HIIHA 200 K& 1,280,000 480,000 800,000
= 640,000
S 192,000
Al 448,000
402 QI2tXt= 01 ™ 1,280,000 480,000 800,000
= 640,000
£ 192,000
Al 448,000
02 Q=AML EE(0IATHE) 1,280,000 480,000 800,000
O HIIHA 20 X& 1,280,000
= 640,000
= 192,000
Al 448,000
IR BHESOtA M2 AL 7,886,200 11,275,000 A 3,388,800
= 4,515,720
= 1,011,144
Al 2,359,336
301 gEtE N = 4,835,200 3,200,000 1,635,200
= 2,901,120
S 580,224
Al 1,353,856
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